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QUESTION 1

Notification is sent to users of business unit A when a PO record stays in NEW status for over 15 days. However, users
of business unit B have not received the notification for the same business scenario. Which three escalation settings
should be verified? (Choose three.)

A. Site

B. Active

C. Schedule

D. Condition

E. Applies To

F. Organization

Correct Answer: ADF

QUESTION 2

Which two fields in the Classifications application construct Classification hierarchies? (Choose two.)
A. Children

B. Use With

C. Attributes

D. Classification Path

E. Classification Parent

Correct Answer: AE

QUESTION 3

What are two types of reports that can be registered in the Tivoli process automation engine? (Choose two.)
A. BIRT

B. SQR

C. EXCEL

D. QUEST

E. COGNOS

Correct Answer: AE
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QUESTION 4

A company has a large project with a work order hierarchy structure where each work unit has its own work plan
requirements. A client wants the work plans for these projects to use planning templates. These templates can be
reused across organizations and system actions and will generate the work order hierarchies for these job plans. Which
approach meets the business requirement?

A. Create job plans for each unit of work.

B. The Route Stops will become child work orders.

C. Create job plans for each unit of work.

D. The Route Stops will become Work Order Tasks.

Correct Answer: A

QUESTION 5

A client operates a multinational corporation with operating units around the world. The corporation will be acquiring a
new unit in North America to expand an existing site operation andwants the new operation to use IBM Tivoli software.
Initially this new unit will operate under its current GL account structure. What is the solution for the client to set up the
new operation?

A. Set up the new operation as a new organization.

B. Set up the new operation in a separate database.

C. Set up the new operation as a new location system under the existing site.

D. Set up the new operation as a site under the North American organization.

Correct Answer: B

C2010-571 VCE Dumps C2010-571 Study Guide  C2010-571 Exam Questions

C2010-571 VCE Dumps | C2010-571 Study Guide | C2010-571 Exam Questions 3/3


https://www.pass4itsure.com/c2010-571.html
https://www.pass4itsure.com/c2010-571.html
https://www.pass4itsure.com/c2010-571.html
http://www.tcpdf.org
https://www.pass4itsure.com/c2010-571.html
https://www.pass4itsure.com/c2010-571.html
https://www.pass4itsure.com/c2010-571.html

